The two children shown in Figure  are balanced on a seesaw of negligible mass. (This assumption is made to keep the example
simple—mare involved examples will follow.) The first child has a mass of 26.0 kg and sits 1.60 m from the pivat.(2) If the second child has a
mass of 32.0 kg, how far is she from the pivot? (o) Whatis I, , the supporting force exerted by the pivot?
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Figure  Two children balancing a seesaw satisfy both conditions for equilibrium. The lighter child sits farther from the pivot to create a torque equal in magnitude to that of
the heawier child.



